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(700) At HI 2 gh(710)¥gH 8 NIE: (751) L Bt2t2 (SHS R )
! =2
Ol AFOH | MEA SOl A H DB A = D =
i==)
Slx==Z2I|HEE3 A
O BA2YAREXIY|
Sta=tet 100,000 X 122 = 1,200
206
X 2H 1,000 1,000 0
1,000 1,000 0/206-01 (LEHHEHI)
Slx==Z2I|HEE3 A
O A=) A& L JEtHE 2 100,0002 X 2& X 53] = 1,000
207
o AOf ety 6,000 6,000 0
6,000 6,000 0/207-01 (¢E4H|)
ol Z2IIYSE3 A
O RIIAESES|H LaLAIRA 6,000,0002 X 13| = 6,000
212
S| S MY 1,728 1,728 0
1,728 1,728 0/212-09 (2JIEt=2|IS4H|)
Slx==Z2I|HEE3 A
O S|




(700)AtS HI gh(710)¥gH 8 NIE: (751) L Bt2t2 (9 &)
! =2
Ol AFOH | MEA SOl A H DB A = D =
i==)
HDRFXIZ A 86,0009 X BA!l X 4% X 12’ = 1,728
214
24X DAY 3,500 3,500 0
3,500 3,500 0/214-05 (2IEtwHIHI)
Slx==Z2J|HEE3 A
O Xt H=D| 2el
XIGHEHZ=D| DA 50,000 X 2000 = 1,000
XatEHZ=D| $2l & AX 50,0002 X 2000HA X 25% = 2,500
301
UBIB AR 10,000 10,000 0
10,000 10,000 0/301-12 (J|EFEAZ2)
Slx==Z2I|HEE3 A
O BtEZAlE 2I2+01 2AX 2] 1,000,0002 X 10% = 10,000
303
A2 11,681 14,781 3,100
11,681 14,781 A3,100/303-02 (HMAO2)
Slx==Z2I|HEE3 A
O &taoi=2 127,429,000 X 1/12 X 1.1 = 11,681




2t (700) At H| 2 &t Aoy Mgk (751) B2l ] el Mel)
nl =
Ofl AFQH |74 LA & (] A OH = =
2+ 8 MIEt =
304
HIZ2YI2S 245 877
199,387 304-01 (38
ST ZIIAEHZH
O o2
o == 188,000,000 X 7.0% 13,160
A A 1,041,857,0002 X 7.0% 72,930
O B&E=2
[ =g=s 188,000,000 X 4.557% 8,568
St AP A 1,041,857,0002 X 4.557% 47 478
O EzLgez
[ =g=s 188,000,000 X 4.5309% 8,519
St AP A 1,041,857,0002 X 4.5309% 47,206
O Malgaga=2
o= 188,000,000 X 0.124% 234
A A 1,041,857,0002 X 0.124% 1,292
46,490 304-02 (=
olgE2D|
O HAEH
o == 188,000,000 X 3.50% 6,580
A 1,041,857,0002 X 3.50% 36,465




(700)AtHHIE s (710) 2 HHIE AI8H: (751) 2 Eratel] (&9 &)

i =
Ol At |MECOIAY B DB a4 B I %
=
stagy 6,580,0002! X 8.00% = 527
A A 36,465,00020 X 8.00% = 2918
307
0I2H0| & 6,579,000 0|  6579,000
6,579,000 0| 6579,000307-05 (QI2+SIES)
SteEZIIYSHs
[EX AN
OSt421TH AUE BIXAIY AUE X2
094 At 5,879,000,00021 X 141 =  5879,000
(= 4,115,000,000)
(Al 1,764,000,000)
[ R AbES ]
OSt421TH AUE BIIAY 2HE X2
094 At 700,000,00021 X 14 = 700,000
317
TolgSEIHARYS 60,000 51,000 9,000( 5t EBI| S 3
O A+ETIIASHSIH ITES
SGHETAIRR SASES 222 2,000,000,000% X 3% = 60,000
ElS 21,000 67,665 | /46,665




(700) AL HIE 8t (770) 2P 2Bl M (771) XIS 01 X2 | S Ml HI (cheldg)
ot =
Ol ot |MEZO A HnsS2 0= I =
B NI =
771
X 20l XL = SRl 21,000 67,665 46,665
311
Xt 20| KAk 21,000 67,665 46,665
21,000 65,040 A44,040| 311-04 (SLEFEXLSO0IXHAHE)
ST BIIUS S A
O SYHIXAUS AE0| X
99E e 433,600,0009 X 1Aal(BHs32l) = 21,000
800
I 126,960 55,490 71,470
801
I 126,960 55,490 71,470
801
ol 1 bl 126,960 55,490 470| St E 21 A EH 3| N
O oyl 126,960,0008 = 126,960




